e F O] HE 4 B 20 5 - S RolA el 02 7]
ore e

@ 1] 3000 ¥: +3000 A @ ETH30E: -30 &
@%%711 60kg : —60kg @ 2% 5000 ¥ -5000 A
®

S 5 5 A7F: +5 AZE




Fe] 341 3, 5

0
SOl A4 7, - f,g

whebA] 247} ok A4 47 o] e.




telet.

S

3ol 3 Bk 59 H50] A48 7

A9

3.

474

ull

)l A4 -3,3,-5,5°| B2 4 7o},




T a = 08T 2AY Z 5.2 0|5t o], o = FolH a 7H 2
T Qe AE B 12H? (9 27h)

14 5
0o 2+ @5 own @

5
0<a<b520BZ 4714 4 gE= 5= _39}+6 o]t}




s § T527 &4 &2 A2

r[o

O x=3HY I3, s HG A7 AT -3 <x<5
@ x
® x
@ x =02t IAY Z, 905ttt - 0<x<9

@)re-3%ct 23, 4% 27 9tk 5 3<r<d

201 THkolth, - 2<x<7

rr

rr

—6HTH 27 ¢ka1, 1Bty 3] ¢frh, - 6 <x< -1

rr

® -3<x<4




-2A-1BC 1 DEF 3

® &9 4ol shdshe AL gck
@ 4o sdshs AL 3 Aol

® AP 44 @ ol Q= AL A F oltk

@ 7 B oA C Aolol B43] B fe4Tt A
@) A4 obd F % 3 Aolnk




vl

Os T &4 22 A

oA
rlo

£9

@ 09 FRgLL 0 olck.
@ 5 o) AR -5 o AAGEE 2k,
@)ed A5o Augre I A0 W=
@ -2 o W} 2 o] AYAZhE AT,
® Aol a 2 4 a 9% —a oI,

rlo

i}

~&B

@0 9 Zé%k%o?%ow}
@5 o AdUigke 50]1, -5 o] AUizte 50l 7 Zth,
® 29 A4 AYge & *Jéxﬂﬁit}.

@ -2 o] Aigh2 2 0|1, 2 o] AUigh2 2 °o|B =2 LA,
® dHigtel a & = A1 A7t a ) $olER

—a °|t}.




2xe

g7

oAA ,

sfelet.

o

.

ull

7, -6, =5, —4, =3, —2,-1, 0, 1,2, 3, 4, 5, 6, 70|EZ

2] 714 Hel

RED

o[t




|Al=1|B|, A=B-6
L A=-3,B=3




10. % 3% a.b ol Hotod <ab > B a, b3 BRG] 2 Seta el

o, << -2,7 >, 3 > 2] g2 5t
cCt -

>
> et 7

oH =

sk

~&B

<a,b>%Eab3s AUl Z a2t Fo|T o WA < -2,7 >
o] k= ol E AL

-2 9] At 20|11 7 O] A2 7 O|ER < -2,7>=7 9]
Hr.

T, <7,3>< FoEH 7 o AHF2 7 0] 3 o] A2 3
o|ER < 7,3>=70°| I}




